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Notohon: n(A)= 4 c:? demants n A
(Suw.in‘w.s %\u‘“ See 'A‘()
Question: T we know n(A) aud n(B), do

we lknow Y\(AUB)?
Inz.3T004.850T = 71,2.3,4.5,6F
flzst ofzs497= 11,2,3,43



M'CHVH.H * A= studenmts n class ul bi/‘hmla}s T,m-sg?t

n(A) =13
B:S'l\oalem‘h c~ C.l;.ss \-I/ \pir‘HM'qa$ AP(-D<Q

n(B) =13
| 4 ‘;r\(AUB) - r\(A) +n(B) = 13+13

14 :-V\(AUB) = wn(A)+n(R) —n(A’\%) \3113-2
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E)v.m?b.: Suﬂ?ox. NG ELLY n(B):(D, y\(A“B)"ZO
Fin_) V\(A(\B>.
"(A"’B) =n(A)+n(B)-n(AnB)
20 = |8+ ( -n(Ar\B>
= 24~ n(AnB)
kn(A"B) :.L‘ j
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n(R) = 19
n(B) = \+#

n(RvB) = Btll+ (=25

n(A') = (+IS=2]
n(B' )= ¥+1S =23
n(AvB)= g+]+15=34

n((AvBY )= (5§
n((AsB)') = 1SHXt(,= 219



Vemn D'\&}rams «"P 3 M’S#

e N n(A)= 3+41S4=1%
3'*‘;,, ‘ n(AaB) = L+S = ||
R 7 n(AnBaC) = §
L — n((Av8) )= 3+2 = (D
A'vR'= (AnB) n(A'vB) =842+ ¢
+Y+3 =25

n((AoBY )z 25 o
n(A,U(BnC)B = 3+qt§+La"r?: Z.";
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nR) =14 n(B)=2Z n()=1b
V\(A'\B)--? V\(AnC)=L‘
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